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ParEr 11

(POLITICAL SCIENCE)

1. Which Indian state has the largest number of
seats reserved for the Scheduled Tribes in the Lok
Sabha?

(A) Uttar Pradesh
(B) Bihar

(C) Madhya Pradesh
(D) Chattisgarh

2. The42nd Constitutional Amendment Actadded
the following words to the Constitution:
(A) Socialist and Secular
(B) Sovereign and Democratic
(C) Republic and Justice
(D) Liberty and Equality

3. Ifthe President wants to resign, he shall address
his letter of resignation to

(A) Chief Justice of India
(B) Prime Minister of India
(C) Vice-President of India
(D) Speaker of Lok Sabha

4. The District Treasury comes under the control
of the

(A) Central Government
(B) District Collector

(C) District Treasury Officer
(D) Chief Secretary

5. Who among the following Presidents of India
was associated with the Trade Union Movement?
(A) K.R. Narayanan
(B) V. V.Giri
(C) Giani Zail Singh
(D) Shankar Dayal Sharma

1. @SR AIcey woAfHE Tmeifoma &l AR
@ @RS S HA e iz 2

(A) TeIAWH
(B) f=iw
(C) STyl
(D) =fesiog

2. 42 OF SR FLA SNiBe F R G * e
(RIS

(A) TWieelfEs @ geffeasrs
(B) ARSI @ seeifEs

(C) 2eielfE @ i

(D) FiHTe! @ 5y

3. M AGoITS 2Imeslol FACS I, O SIF 2megioleig
ACHILS O 2(J

(A) SIRSF A4l [ApiReifed Sl
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(C) SRS SoRfgelfea Sy
(D) TS FoIRIEa Sl

4. (SEF (FRISNE FIF S 2
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(C) (@l (@RISR g
(D) 2 A<
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6. Consider the following statements:
(i) Aurobindo advocated the doctrine of ‘passive
resistance’ before Mahatma Gandhi did so.
(i) Aurobindo borrowed the doctrine of ‘passive
resistance’ from Mahatma Gandhi.
(iii) Aurobindo provided inspiration to the
revolutionary movement in Bengal.
(iv) Aurobindo advocated the concept of ‘human
unity’.
Which of the above statements are correct?
(A) (i), (ii) and (iii)
(B) (ii), (iii) and (iv)
(©) (), (ii) and (iv)
(D) (i), (iii) and (iv)

7. Givenbelow are two statements. One is labelled
as Assertion (A) and the other is labelled as Reason (R).
Choose the correct answer using the options given
below:

Assertion (A) : B.R. Ambedkar was in favour
of separate electorate for the
‘depressed castes’.

Reason (R)  : Mahatma Gandhi proposed for
separate electorates for the
‘depressed castes’.

(A) Both (A) and (R) are true and (R) is the

correct explanation of (A).

(B) (A) is true but (R) is not true.

(C) Both (A) and (R) are not true.

(D) Both (A) and (R) are true but (R) is not the
correct explanation of (A).

8. Which of the following is not a feature of the
Government of India Act (1935)?

(A) Provision of three lists (federal, provincial
and concurrent)

(B) Introduction of dyarchy at the centre
(C) Introduction of dyarchy in the provinces

(D) Establishment of a federal court at the
centre

6. fTwfefe seaef o @ ¢

() T SR SR S Wi afermg-ag
ST T T© 2P T |

(i) =N SR (e i igw afee-ag
s azs Tt |

(i) =afa™ FEE QAR St Seade
GioRREE |
(v) ST T D ATF FA ETRE |
ToiE TN @ A Al
(A) (1), (i1) ¥R (iii)
(B) (i), (iii) 9% (iv)
(©) (1), (i) 9 (iv)
(D) (1), (ii1) @R (iv)

7. s 96 T PAfREe ZEeE | @ =6 9 (A)
O w4l e (R)| Wakie smwefim @@ A

TEA AT T 2
eI (A) ¢ [, . SCITMF SAS

Gifoufer oy 7j2is Hpmesta
AT 2T |
IE(R) ¢ TN MR SR@Are wifowfer
ooy ST fAbINGEE 2w
FRRE |
(A) (A) @32 (R) TO@E 39) =K (R) T (A)-7
AT A |

(B) (A) 7% fF€ (R) %) 714 |
(C) (A) €38 (R) @62 7oy =1 |

(D) (A) 43R (R) Te32 71w) 5% (R), (A)-F AGF
i = |

8. Mefive @yehw g @R SRS =vH
SR (1935)-49 (M%) =721 2
(A) TexlbSifeTaz 37! (JSNG, 26 I4)

(B) (I(H (@I Ble] Tl
(C) AmwfTCe taexP bie]
(D) (&% TEAET DM Zloial




9. The Constituent Assembly of India, as proposed
by the Cabinet Mission, consisted of which of the
following?

(i) Representatives of the princely states

(i1)) Members elected by the Provincial Legislative
Assemblies without communal representation

(i11)) Members elected from General, Muslim and
Sikh category seats by Provincial Assemblies

(iv) Members nominated by the main political parties
of India

Which of the above options are correct?
(A) (i), (iii) and (iv)

(B) (i) and (iii)

(C) (), (ii) and (iv)

(D) (1) and (iv)

10. Match List I with List II and select the correct
answer using the codes given below the lists:
List-1 List-11
(Provision of the (Source Constitution)
Indian Constitution)

(a) Directive Principles (i) Germany

(b) Emergency Powers (ii) Canada

(c) Distribution of (iii) Ireland

powers between

the centre and
states

(d) Amendment
procedure

Codes:

@ by (© (@
A) (@) G i) (v)
B) Gi) @  aGv) (D)
© @ Gy (Gv) (iib)
D) Gi) @ G (v)

(iv) South Africa

11. Which of the following statements regarding
‘Right to Education’ in India is correct?

(A) Thisright covers both children and adults.

(B) This right covers all children upto the age
of eighteen.

(C) Thisrightcovers children in the age group
of six to fourteen.

(D) Thisrightcovers pre-primary and primary
education.
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12. Which of the following articles under the Indian

Constitution exempts the President and Governor from
answerability to any court of law?

(A) Article 360

(B) Article 370

(C) Article 361

(D) Article 250

13. Givenbelow are two statements, one labelled as
Assertion (A) and the other labelled as Reason (R).

Assertion (A) : Judicial activism emerged in

India as an extra constitutional

development through Judicial

prouncements and judgements.

Reason (R)  : Judicial activism fills the gap,
since the existing law is not
clearly pronounced.

In the context of the above two statements
which one of the following is correct?

(A) Both (A) and (R) are true and (R) is the
correct explanation of (A).

(B) Both (A) and (R) are true but (R) is not the
correct explanation of (A).

(C) (A) is true but (R) is false.
(D) (A) is false but (R) is true.

14. Under the provisions of the Indian Constitution,
acommunity can be declared a minority community on
the basis of

(A) religion only.

(B) either religion or language.
(C) either language or caste.
(D) either religion or race.

12. TR siERe @ a@b agefe e aemsies
ORI TEMMIE ILAILFS! (AT T FE 2

(A) 360 471
(B) 3707 il
(C) 3617 4=l
(D) 250 = &I

13. e 9l aew@s 3 go7 (A) 93k =wfo
I (R) Zoma iz |
2977 (A) ¢ SrRce [Reelfes AfeTed Tea
2R FRAA-ARge {33 e,
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T e i IeCA (AfFFCe it 79 (@ I
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o2

(A) (A) @R (R) TSEE G G (R), (A)-T A
1 |

(B) (A)43 (R) Tow@z 7o) [5G (R), (A)-F 7S
0 T |

(C) (A) A5 5 (R) T |
(D) (A) Ii% % (R) A5 |

14. SR R I97 A (FEe TRIHE
FRLJETY MY Fe7 ACF FEe (@ @EEE o
fefe s

(A) & 404 fefars

(B) i 71 o% fefers

(C) Sl A Tesiited fefers

(D) & ! 7B (Race) fefere




15. The Indian federal system differs from the
American federal system in respect of the following:

(i) Representation of states in the upper house of
the national legislature

(i1) Existence of a written constitution
(iii) Dual citizenship
(iv) Parallel existence of states’ and federal judiciary

Select the correct answer from the following
options.

(A) (i) and (ii)
(B) (iii) and (iv)
(C) (i) and (iv)
(D) (ii) and (iii)

16. Who described the Indian Constitution as
‘Quasi-federal’?

(A) K. C. Wheare
(B) Ivor Jennings
(C) D.D.Basu

(D) Granville Austin

17. In which of the following states does the
Governor enjoy discretionary powers with regard to
administration of tribal areas?

(A) West Bengal
(B) Uttar Pradesh
(C) Madhya Pradesh
(D) Mizoram

18. Who among the following scholars argued that
it is not politics that gets caste ridden in India, but it is
the caste that gets politicized due to democratic politics?

(A) Arendt Lijphart
(B) Durga Das Basu
(C) Rajni Kothari
(D) K. C. Wheare
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19. Under the PESA (Panchayat Extension to
Scheduled Area) 1996 Act, Gram Sabhas are given the
authority to stop land acquisition by the following body:
(A) State Legislature
(B) District Collector
(C) State Forest Department
(D) Central Government

20. Who among the following scholars is identified
with the concept of ‘derivative discourse’?

(A) Ashutosh Varshney
(B) Igbal Narain

(C) Partha Chatterjee
(D) Granville Austin

21. Which of the following movements did not
involve issues relating to agriculture and farmers?
(A) Tebhaga Movement
(B) Naxalbari Movement
(C) Bardoli Satyagraha
(D) Navnirman Andolan

22. Who described the Indian economy as ‘Bullock
Cart Capitalism’?
(A) Rajni Kothari
(B) Atul Kohli
(C) J. K. Galbraith
(D) Lloyd and Susanne Rudolf

23. Which of the following articles under the Indian
Constitution guarantees protection against arbitrary
arrest and detention?

(A) Article 14
(B) Article 19
(C) Article 22
(D) Article 25

X-8
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24. Which of the following Indian activists is
associated with concept of Eco-Feminism?

(A) Medha Patkar

(B) Sundarlal Bahuguna
(C) Vandana Shiva

(D) Rajendra Singh

25. Which Committee on Electoral Reforms
proposed a Multi-Member Election Commission?
(A) Rajmannar Committee
(B) Balwant Rai Committee
(C) Tarkunde Committee
(D) None of the above

26. The concept of ‘Centre-periphery’ framework
is used to explain the following phenomenon:

(A) Loose-federation

(B) Delegation of authority
(C) Underdevelopment
(D) Under representation

27. Which of the following statements is correct
regarding New Social Movements (NSM)?
(A) NSMs believe in the idea of revolution.
(B) NSMs are class based movements.
(C) NSMs have a post material orientation.
(D) NSMshaverigid organisational structure.

28. The concept of ‘Print capitalism’” was given by
the following:

(A) Craig Calhoun
(B) Carlton Hayes
(C) Anthony Smith
(D) Benedict Anderson

X-9
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29. Who among the following was involved in the
formation of the Communist Party of India?
(A) Jyoti Basu
(B) M. N. Roy
(C) Charu Majumdar
(D) None of the above

30. The phrase political system as ‘authoritative
allocation of values’ is attributed to

(A) Almond
(B) Easton
(C) Pye
(D) Dahl

31. Theterm “Third World’ comes close to which of
the following options?
(A) Industrial Societies
(B) Colonies of European nations in Africa

(C) Countries that were notaligned with either
USA or Soviet Union

(D) South-East Asian countries

32. Match the following:

(a) End of History and
the Last Man

(b) Orientalism

(c) Clash of

Civilization and

the Remaking

of World Order

Politics among

Nations : The

(i) Edward Said

(i) Samuel Huntington
(iii) Hans Morgenthau

(d)

(iv) Francis Fukuyama

Struggle for
Power and Peace
Codes:

@ ®) (© (@
A) @) G i) (v)
B) Gv) G G (@)
© Gv) @ G (iib)
D) @ Gv) ai) (i)
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33. Who wrote the book The Indian Constitution :
Cornerstone of a Nation?
(A) Granville Austin
(B) Rajni Kothari
(C) B.R. Ambedkar
(D) D.D. Basu

34. Who made the following statement?

“Political Socialisation are those developmental
processes by which political cultures are formed,
maintained and changed.”

(A) Karl Deutsch
(B) Laswell
(C) Almond
(D) Easton

35. Match List-1 with List-1I and select the correct
answer:

List-1
(a) T.H. Green
(b) Jeremy Bentham
(c) John Locke
(d) John Dewey

Codes:
(@ (b)
(A) @G Gv)
B) @Gv) (i)
© @G (@v)
(D) (@v) (i)

List-11
(i) Natural Rights
(i1) Idealism
(iii) Pragmatism
(iv) Utilitarianism

© (d
(i) ()
(1) (i)
(1) (i)
(i) ()

36. Nationalism in Latin America is referred to as

the following:

(A) Civic Nationalism

(B) Cultural Nationalism

(C) Creole Nationalism

(D) Post-colonial Nationalism

10-11
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(PG 8

(@ b (© (@
A) G Gv) (i) @)
B) Gv) G @ (i)
© @Gy @Gv) @ (i)
D) @Gv) () (i) @

36. e SIEHIT TrorreRm e Il

O e fofee =312
(A) (9 FrORMeI[M

(B) AFfos wrerreiam
(C) ™ (Creole) SIORMSAM
(D) Teg-@eifafis Treimeiam
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37. According to Antonio Gramsci, civil society is
primarily geared to the generation of the following:
(A) Coercion
(B) Exploitation
(C) Consent
(D) Rebellion

38. Who among the following identifies political
development with the institutionalization of political
organizations and procedures?

(A) Samuel Huntington
(B) Lucian Pye

(C) Gabriel Almond
(D) Jean Blondel

39. Comparison of states on the basis of ideal/
corrupt was advocated by

(A) Plato

(B) Cicero

(C) Auristotle
(D) Thucydides

40. ‘Four Principles of organization’ were identified
by
(A) Max Weber
(B) Luther Gulick
(C) Elton Mayo
(D) David Easton

41. Marx visualised the role of bureaucracy in the
context of

(A) French situation
(B) Russian situation
(C) Prussian situation
(D) None of the above

X-12

37. AN e, (N 7S 2iefireiE FEfke g
IRERIERI I GE

(A) =6
(B) c*iraet
(C) mife
(D) Ra

38. its el @ @14 Aetafes [Feia Jox

(e o

Aettes Wada ¢ dfF AfRiFed- 7@
AR 2

(A) R ZIFB5T

(B) PRI A1

(C) aifEeT SrfeTre

(D) =i Fo@

39. v/ fiFe el SR AE 9ol PR
(A) 2!

(B) Pt
(C) wIifaeboe
(D) YFuiRfe

40. RS BTG e’ Hizs FeaferE
(A) 8 SRRE
(B) = siifere
(C) @75 (I
(D) (ofeT 26+

41. SITANOZ-T IR T9IF T D76l 9T (O

NEe @ S<EF Afcafwcs ¢
(A) TP S=BR
(B) T ST
(C) diffag s
(D) Toltaa (I 7
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42. ‘Administrative Behaviour : A Study of
Decision Making Processes in Administrative
Organization’ was authored by

(A) Chester Bernard
(B) Max Weber
(C) Herbert Simon
(D) Henri Fayol

43. Which one of the following, according to Charles
Lindblom, occurs in administrative decision?
(A) The successive limited comparisons
(B) Coordination of individual and group
efforts
(C) Mixed scanning
(D) None of the above

44. The Special characteristics of public policies as
differentiated from other policies emanate, according
to David Easton, from

(A) Public interest
(B) Authorities

(C) Relevance

(D) None of the above

45. The Cabinet Committee on Economic Affairs
(CCEA) has approved expansion of which Yojana for
a pan India coverage from 2017-18 to 2019-20?

(A) Pradhan Mantri Bima Yojona

(B) Beti Bachao Beti Padhao Yojona

(C) Beti Bachao Yojona

(D) Pradhan Mantri Gram Sadak Bijli Yojona

46. The nodal agency for National Register of
Citizens (NRC) in India is
(A) The Supreme Court

(B) The Registrar General and the Census
Commissioner of India

(C) The Election Commission of India
(D) None of the above

10-11
42. ‘speRcEte Efeam ¢ « i o1 T

@R AFE™ 3 eEEte Sz a8t
ERRSEGO|

(A) (501K IS
(B) 9 @I
(C) 2= AT
(D) SifF e

43, faw e @ aal, oo Frogw-aa st
AP PTRISERER 7T 906 AT ?
(A) Ffsre woreig A==
(B) a1f& @ (5D 2B FwEw
(C) = =i (Scanning)
(D) THARR @D a7

44. siSifewf@ (Public policies) frxia vfa@afs,
(BTST BIHC (0, ey Jlefe Oty (it i (20T Tge 2
(A) Tl
(B) TR
(C) Aol
(D) THARR @D 97

45. Sfs @ HREE FMG (CCEA) &iF @EiE
2017-18 (G 2019-20 SR ALSITOR CFGq ST
FEE?

(A) =g [ e

(B) @5 Fvte @& sivre @i
(C) @ e et

(D) 24ieTarg AN Jes [Kefet @iem

46. SIS TR 9IS #lfg@ (NRC) (@I (nodal)
A (G 2
(A) e 5
(B) ©RCod @A (Tl & G FhHa
(C) SIAced Wi5e FhEmE

(D) TR IR
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47. Mission Indradhanush is related to
(A) Children Safety
(B) E-commerce
(C) Child Vaccination
(D) Micro Finance

48. Swachh Bharat Mission (Rural) programme
comes under which ministry?

(A) Ministry of Panchayati Raj
(B) Ministry of Drinking Water and Sanitation

(C) Ministry of Woman and Child
Development

(D) Ministry of Rural Development

49. Match the theorists (List-I) with associated
concepts (List-1I) by identifying the correct code:

List-1 List-11
(a) Karl Deutsch (i) Modernization as
multifaceted
process

X-14

47. e TR’ Sipd @2 et 71 g
(A) e fS=iorat

(B) =0
(C) T eifsrayae
(D) SiEce e

48. vz OIS fH (2F) I TZF S 2
(A) #lcafs qrer TEH

(B) ¥ && @ (5 <7 TTF
(C) T ¢ TR Tt Tz
(D) 2 e Tz

49. w1 (osifaw) @3 eifa-11 (4179 & Wi

(b) S. Huntington

(c) V. Pareoto

(d) David Easton
Codes:

(@ (b

(A) (i)  (@1v)
B) Gv) ()
© Gi) @)
(D) Gi) (i)

(i1) Circulation of Elites
(iii)) The Gatekeepers
(iv) Receptors

© (d
@ (@)
(i) (i)
(iv) (i)
(v) ()

50. Who wrote the book, The Functions of the

Executive?
(A) Barnard
(B) Simon
(C) Weber
(D) Mayo

Ao Teq e |
Oifer-1 ©iferer-11
(a) I T (i) Sy 25 a2
At
(b) . QGG (il) @fToma vaTva
(c) fo. et (iii) BEEwRe
(d) cofos 3354 (iv) 2= (Receptors)
(PG 8
@ G @© (@@
(A) Gi) @Gv) @) (D)
B) Gv) @) () (i)
©) (i) (@) Gv) (i)
(D) (i) Gi) Gv) (@)

50. 7 FIHPT O 7 GRS ATh F (F0A?

(A) AE
(B) iz
(C) SR
(D) I



51. The Classical theory of Management was
developed by

(A) Frederick W. Taylor
(B) Henry Fayol

(C) Max Weber

(D) Maslow

52. The concept of ‘Sarvodaya’ was developed by
(A) Jayaprakash Narayan
(B) M. K. Gandhi
(C) Vinova Bhabe
(D) J. B. Kripalani

53. Which one of the following defined
administration as ‘the organisation and use of men and
materials to accomplish a purpose’?

(A) Felix A. Nigro
(B) Herbert A. Simon
(C) L. D. White

(D) Luther Gulick

54. Which one of the following pairs is wrongly
matched?
(A) George C Homans : Human Group
(B) Maslow : Motivation Hygiene Theory
(C) Blake and Mouton : Managerial Grid

(D) Kurt Lewin : Group Dynamics and Field
Theory

X-15
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51. AfleTE @it ©red aere! o
(A) O TS, G

(B) Sifs cFae
(C) I S@RE
(D) SyCE!

52. AR wreR TSl i
(A) TP e
(B) @, (. SN
(C) TRt o=
(D) (@ f. FoAEa!

53. RIS AT Tl T 8 FH9ATH TR
8 AR 2GS Fes| foeTea e i s
(F AT ?

(A) e @, et
(B) T «. iz
(C) ¢ . @25
(D) FAF Nifere

54, xS @iF (@l @ifeye ?
(A) & BT @ & RETIA 2k
(B) SIPIET ¢ Gifbresiv 2izfem o
(C) @ € (o ¢ Witz 2w
(D) (5 T2 ¢ &Fol TiAIR R fFw ©g
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55. Givenbelow are two statements, one labelled as
Assertion (A) and the other as Reason (R):
Assertion (A) : H. A. Simon rejected the
possibility of maximising
decisions.

Reason (R) : He observed that human
behaviourin the organisational
setting is characterised by
‘bounded rationality’.

In the context of the above two statements
which one of the following is correct?

(A) Both (A) and (R) are true and (R) is the
correct explanation of (A).

(B) Both (A) and (R) are true but (R) is not a
correct explanation of (A).

(C) (A)is true but (R) is false.
(D) (A) is false but (R) is true.

56. The view that ‘relations between and among
states are essentially strategic rather than social’ could
be associated with

(A) the Constructivists
(B) the Marxists
(C) the Liberals
(D) the Realists

57. A post-colonial critique of the Western
enlightenment that uncovered its links to colonialism
was developed by

(A) V.1 Lenin

(B) Antonio Gramsci

(C) Edward Said

(D) Immanuel Wallerstein

58. The name of Richard Snyder is associated with
(A) Systems Theory
(B) Decision Making Theory
(C) Game Theory
(D) None of the above
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55. S5 7-6 I (reat Wi, 9 o7 (A) @R
23 ©F & (R) ¢

ST (A) ¢ 25, . AR PRSI AR
AR Alfoet FA0 |

& (R) ¢ T 7% Fca= @ AR Remien
NRSBACR @ S (@ifewer |
3 V3 A (2fFcs Fafie @ Sl A 2

(A) (A) €% (R) I 7T @R (R), (A)-43 A5F
T |

(B) (A) 43R (R) %62 e € (R), (A)-43 AfGE
[ T

(C) (A) 19 fFg (R) e |
(D) (A) fien &8 (R) 97 |

56. FFaRIR W1y ATl e ANfaEa
GrEe @ FHE— @3 =760 Ha AN e T4
7, Sl

(A) e fasfieraat
(B) WAt
(C) Twizalat
(D) JrEFafat

57. R wiaaiiee Sea-@eifbcaiEis gt FTuiceTval
Tl BTN A0 O AL Swive FCafRT—ol
0O (oIt

(A) fe. =iz, @

(B) wnceife s

(C) SIS 72

(D) SRS SAETRPGIRA

58. (@ S0gd A0 HBIS FROIER 19 AIS, ©f 24
(A) ITEET OF
(B) Fral® aze wg
(©) o frefa
(D) TAER @IAIHE T2



59. The work Casino Capitalism is credited to
(A) Susan Strange
(B) Adam Smith
(C) Joseph Stiglitz
(D) None of the above

60. Match the books with respective authors:

(a) Manufacturing (i) Benedict Anderson

Consent

(b) Imagined (i1)) Immanuel
Communities Wallerstein

(c¢) The Modern (iii) Antonio Gramsci
World System

(d) Prison Notebooks (iv) Noam Chomsky and

Edward Herman

Codes:

@ (b (© (@
(A) (i) (D)  @Gv) (D)
B) Gv) @) G (iib)
© @ Gy @G 3GQv)
D) Gv) G @G D)

61. A leading exponent of ‘offensive realism’ is
(A) Samuel Huntington
(B) Francis Fukuyama
(C) John Mearsheimer
(D) Paul Krugman

62. The concept of ‘Heartland’ is associated with
(A) Carl Von Clausewitz
(B) Halford Mackinder
(C) Alfred T. Mahan
(D) Nicholas J. Spykman

X-17
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59. e Ffebifares a6 foatas

(A) 7 (e

(B) spie el

(C) caieTe Poalfeies

(D) TR @S T

60. fTafefie gzl 7 oime Aot Jiw

7 ‘335\’9 (< (NeTe 2

(b) ZWferTe FlaHT

(a) MTFFEIR P (1) QST SIS

(ii) S SARATHIEA

(c) 7 @I ST PGy (iii) Snceife st

(d) T2rEm @377 (iv) GRS B @R
GUORIE F=
(1T 8
@ b © @
(A) Gi) (@) @Gv) (D)
B) Gv) @) () (i)
© @ Gy a6 (1)
D) Gv) @) @G i)
61. TEFHIRNF IBIFMS &AL &AIS| (e
(A) IR 25
(B) Tfm1 Tl
(C) &= SRR
(D) #eT EARuls

62. Trghr-7 Rl A7 0 AT, fof 2@

(A) I o FIEATSLE
(B) IS WifFeld

(C) were 5. W

(D) WM (&, =iz
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63. The Headquarter of New Development Bank
(BRICS Bank) is in
(A) Beijing
(B) Shanghai
(C) Kunming
(D) Shenzhen

64. The term ‘Iron Curtain’ was used in his Fulton
speech by
(A) Dwight Eisenhower
(B) Winston Churchill
(C) Harry Truman
(D) John Kennedy

65. European Union was formed by
(A) Rome Treaty
(B) Masstricht Treaty
(C) Lisbon Treaty
(D) Brussels Treaty

66. Which of the following is not a specialized
agency of the UN?
(A) World Health Organization
(B) International Monetary Fund
(C) Economic and Social Council
(D) International Labour Organization

67. Consider the following statements:
Classical Liberalism stands for—
(i) a state which is merely a watchman
(i1) individualism
(i11) welfarism
(iv) free market
Which of the statements given above are true?
(A) (i) and (ii)
(B) (i), (ii) and (iii)
(C) (iii) and (iv)
(D) (), (ii) and (iv)

X-18

63. T TWE T (T IF)-93 s IR
ERIEY
(A) @Efer-q
(B) 22-(o
(C) FfiR-4

(D) x=Ci-4

64. FoH TGOR IR TR T IR FE
(A) TOTLT SRR
(B) 354 ifoet
(©) =& G
(D) o &G

65. TN TSR 9ifd® =7
(A) @ e 74l
(B) wGE piew =i
(C) TP plex =il
(D) ICRP pies ==l

66. FHfieelm M @EWh AR wfooga
fQeeiae g e
(A) e 5 77l
(B) wiwwifes o Siad
(C) wiftafes ¢ ANITEs wAfqam
(D) SI@efes *% 77

67. R sewel o s |

ol Tnaam-93 oY ZE—
(i) 71 = wyE 22l

(i) IfEam

(iii) G

(iv) & JEle
ARG @ TG AGF 2
(A) (i) 9= (ii)
B) (i), (i) 9=® (iii)
(C) (iii) €<% (iv)
D) (@), (i) €% (iv)



68. Which of the following treaties declared Africa
as a Nuclear Weapons Free Zone?
(A) Treaty of Tlatelolco
(B) Treaty of Pelindaba
(C) CANWEFZ Treaty
(D) Treaty of Rarotonga

69. First NAM Summit Conference was held in
(A) 1953
(B) 1956
(C) 1961
(D) 1963

70. India’s ‘Next Steps in Strategic Partnership’
with the U.S. include
(A) Cooperation in civilian nuclear activities
(B) Civilian space programmes
(C) Missile defence
(D) All of the above

71. The idea of ‘Nature as a hostile power’ is
associated with

(A) Vandana Shiva
(B) Robert Kaplan
(C) Rajendra Pachauri
(D) Greta Thunberg

72. The Sagarmala project is aimed at

(A) Forming an alliance of Indian Ocean Rim
States

(B) Forming an alliance between India and Sri
Lanka

(C) Countering China’s strategic expansion in
the South China Sea

(D) Developing infrastructure to improve the
economic potential of India’s waterways
and coastline

X-19
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(A) TG Hie
(B) (oifevmial pfe
(C) CANWFZ pf&
(D) FARAGRN pfe

69. 23 (&5 [N SieweTea (NAM) S AceTe

oo 3

(A) 1953 3=
(B) 1956 A
(C) 1961 AT
(D) 1963 =

70. ET TSANE A ©ECS I SRAMIRCY
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(A) SIS AR ST TRl
(B) SPiIfass Sl 1o
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(D) Toitaa 7o
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73. The ‘Sir Creek’ dispute exists between
(A) India and Sri Lanka
(B) India and Pakistan
(C) India and Bangladesh
(D) India and Indonesia

74. Which countries are major crude oil suppliers to
India?
(A) Iraq, Saudi Arabia, UAE
(B) Iraq, Iran, Nigeria
(C) Kazakhstan, Saudi Arabia, Russia
(D) Uzbekistan, Iran, Russia

75. Givenbelow are two statements, one labelled as
Assertion (A) and the other labelled as Reason (R).

Choose the correct answer from the codes given
below:

Assertion (A) : Great political theories
originated, as Sabine put it, in
the interstices of political and

social crises.

Reason (R) : There is no disinterested
political theory.

(A) Both (A) and (R) are true and (R) is the
correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the
correct explanation of (A).
(C) (A)is true but (R) is false.

(D) (A) is false but (R) is true.

X-20
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73. NF @i AFe famt @ v-T wvgs W,
DRG]
(A) O @ Ra7x|
(B) ©IF® @ “AfFEe
(C) ©T® € JIHwH!
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(D) Tofe, 241, i
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(D) (A) fien &8 (R) 97 |
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76. Match the books (List-I) with their authors
(List-11) by identifying the correct code:
List-1 List-11
(a) Discovery of India (i) M. N. Roy
(b) India in Transition (ii) M. K. Gandhi
(¢c) Indian Struggle (iii) Jawaharlal Nehru
(d) Hind Swaraj @iv) S.C. Bose

Codes:

@ () (@ @
(A) (i) Gv) (@) (D)
B) () @ Gv) (D)
© Gi) @  aGv) (D)
D) Gy G Gv) @)

77. “The Sovereign Prince is accountable only to
God.” Who said this?
(A) Bodin
(B) Machiavelli
(C) Hobbes
(D) None of the above

78. Which of the following is not emphasized in
Arthashastra?
(A) Diplomacy
(B) Propaganda
(C) Expediency
(D) Purity of means

79. Who among the following advocated ‘partyless
democracy’ in India?
(A) Mahatma Gandhi
(B) M. N. Roy
(C) Jayaprakash Narayan
(D) Acharya Vinoba Bhave

10-11

76. fa=faie IRl A (Ol Sl Aereima
T (SRR AT (@I ST Hiere w2 ¢

Oifer-1 OIferLIl
(a) fo7oelfd oF 3f&zn (1) 9. @=. I
(b) 3z ZvGmfema (i) <. . SR
(c) 2f&m Braer (i) ez ([
(d) 27 F7re7 (iv) @ P1. @M
(T8

(@ b (© (@
A @) Gv) @O ()
B) ) @ (Gv) (i)
© i) @ (Gv) (i)
D) G G Gv) @

77. ‘AT ACFAT BYNG 2 PR T [ —
J S ?
(A) @mi
(B) Wifsaicef
(©) =/
(D) TR &S 7T

78. ey 3ffe @mta Tow S -cs (e mewl
e ?
(A) e
(B) 25
(C) Ffegeel

(D) Toa el
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(A) =r=0 oAl
(B) &1, &, A
(C) GId<s IR
(D) e [l ©1E
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80. Inhisconceptof the ‘Ideal State’ Plato employs
the term ‘appetite’ which refers to
(A) Soldiers
(B) Artisans
(C) Rulers
(D) Individuals

81. Who described Gandhi as Philosophical
Anarchist?
(A) Gopinath Dhawan
(B) Judith Brown
(C) Romain Rolland
(D) Eric Erikson

82. According to Jayaprakash Narayan, ‘Total
Revolution’ is a combination of
(A) Five revolutions
(B) Six revolutions
(C) Eight revolutions
(D) Seven revolutions

83. Rousseau’s concept of ‘General Will” avows
which one of the following?
(A) Popular sovereignty
(B) Parliamentary sovereignty
(C) Sovereignty of the constitution
(D) De jure sovereignty

84. Inwhichofthe following works Thomas Hobbes
developed the case for absolutism?
(A) Elements of Law (1640)
(B) De Chive (on the citizen, 1642)
(C) Leviathan (1651)
(D) All of the above

X-22

80. 1T S A -F LT C2ITH! (I el (@IS
TFA” (appetite) *0 IALIT FCICEA 2
(A) @l
(B) =i
(C) *IF
(D) If&

81. (T RIS e (et et 2
(A) oA e

(B) gfuel arsw
(C) @ 7@t
(D) «fss afsw

82. ST TAER T WP TGS {2 @
FIEFH AT T —
(A) el fza
(B) = Rz
(C) =5l fHza
(D) 1reft Az

83. fagferfas D i Side 2=’F g7 i
?
(A) oo ARSI
(B) M ALCSTTg
(C) Akfuf< AfeTg
(D) ferasegst AEceTg

84. WHRTRS (&FIF &0y 4P 2P FRF=RIma #It%
& @™ w2
(A) GfeTer53 &7 &7 (1640)
(B) @ fire (v wy Hifbcee, 1642)
(C) cETfeznelT (1651)
(D) Toltza A2



85. In which ‘address’ Igbal raised the issue of a
confederation for the Indian Muslims?
(A) Karachi Address
(B) Allahabad Address
(C) Bhopal Address
(D) Lahore Address

86. ‘Two Concepts of Liberty’ was written by
(A) Berlin
(B) Hart
(C) Dworkin
(D) None of the above

87. Tuhfat-ul-Muwahhidin was written by
(A) Raja Rammohan Roy
(B) Raja Radhakanta Deb
(C) Akshay Kumar Dutta
(D) H.L.V.Derozio

88. In which book did Foucault elaborate his theory
of Panopticon?
(A) Madness and Civilisation
(B) The History of Sexuality
(C) Discipline and Punish
(D) Order of Things

89. The doctrine of synthesis or Samyavada is
associated with

(A) Jawaharlal Nehru

(B) Subhash Chandra Bose
(C) M. K. Gandhi

(D) None of the above

X-23
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85. (P IGOR THAE OO PITICE FIA
(Confederation) Razf Siew Sl ?
(A) =1 agel
(B) @TR_M gl
(C) Celie Tgel
(D) == agsl

86. T FCIH o forallh -7 ool 2@
(A) ifefe
(B) =
(C) coafea
(D) TR &S 7T

87. 9eTe-CH-RIfRMT-93 Aol 2w
(A) 3l AR -
(B) A&l F4eIe (7
(C) o1 I 78
(D) «@%p. ¥=1. fS. ferifere

88. (T &0 T O ALUIIT TG [T FC02e 2
(A) T S ffoergceia
(B) 7 R o rgRIfes
(C) Teftza S fifet
(D) &EIF &% 12

89. AFITE (synthesis) 4IFM i ARGIATR ACK RIS

(A) SETIEN (W2
(B) [@l@bd (I
(C) @, (. SNl
(D) TR & 7T
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90. Who wrote Power/Knowledge...?
(A) Derrida
(B) Foucault
(C) Spivak
(D) Lacan

91. The doctrine of ‘Sulh-i-Kul’ influenced
(A) Babur
(B) Shah Jahan
(C) Akbar
(D) Aurangzeb

92. Hegel’s thoughts on slavery are contained in his
work

(A) Philosophy of History

(B) Philosophy of Right

(C) Phenomenology of Spirit

(D) Encyclopaedia of Philosophical Sciences

93. Who described the Mughal Emperor as the
‘Shadow of God’?
(A) Abul Fazl
(B) Barani
(C) Ibn Batuta
(D) Badauni

94. Who wrote Dialectics of Nature?
(A) Marx
(B) Engels
(C) Marx and Engels
(D) Plekhanov
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90. =ol/T@ (Power/Knowledge...) & o102tz ?
(A) mfsmi

(B) T
(C) feis
(D) T8

91. “FrR-3-ge Tfed al el ar@faE
(A) I=F
(B) #rergl«
(C) =i
(D) ST

92. Ty AW zeateT belar @ @TER [ye
2R ?
(A) Pl o 1215
(B) FRrerif &% 126
(C) Grelzaefer orF Foifas
(D) 97N TSz &3 Rreenrifr e AT

93. ¥& FHHE (& I Afovrral’ A el
A ?
(A) oI e
(B) I
(C) T Tl
(D) et

94, ‘TINEET G (wVHIT— (F foTCatas 2
(A) TFA
(B) @
(C) T 8 G
(D) caTe



95. ‘Integral Humanism’, as a concept, is
propounded by
(A) M. S. Golwalkar
(B) Dindayal Upadhyay
(C) Shamaprasad Mookerjee
(D) M. N. Roy

96. “The greatest happiness of the greatest number
is the foundation of morals and legislation.” (Bentham)

In which book it has written?

(A) Panopticon

(B) A Fragment on Government
(C) Theory of Legislation

(D) AnlIntroduction to the Principles of Morals
and Legislation

97. Givenbelow are two statements, one labelled as
Assertion (A) and the other labelled as Reason (R):

Assertion (A) : A social movement is a
particular form of collective
behaviour in which the motive
to act springs from the attitude
of members and the challenges
of the society.

Reason (R)  : Social groups and movements
embrace interest groups and
political parties to achieve their

goals.
In the context of the above two statements
which one of the following is correct?
(A) Both (A) and (R) are true and (R) is a
correct explanation of (A).

(B) Both (A) and (R) are true but (R) is not a
correct explanation of (A).

(C) (A)is true but (R) is false.
(D) (A) is false but (R) is true.
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95. FRIE I AIFeAF A0 & =@
(A) G, G, (SNAESTLARA

(B) AiemaeT Gottepa
(C) Iz SJAST
(D) €. .

96. « THifEE ST s J¢ TS @ WAFA-«3
fefe”—(cagm)
(I 2T G2 T TR ?
(A) i
(B) & THONGIG O SIS0
(C) fefd s cEfemiem™ia
(D) Ui ZBICiwa § 7 f2ifEerpt o=F Seyem
SIS (HATGTAE

97. M 4-B & (rewl ez | AW 2977 (A) @R
=77 ©IF & (R)
27T (A) ¢ ANMEF S 25 @F [0
SRR (L A6 T TSI
wieln 3z ARG aife™id
(A SR STl TYS 2F |
2 AMITE (9B G SN H T oS 1B
SR FLD @ Ao
@i Tive e |
Toitare a6y b4 cafFce e @imf i 2
(A) (A) @R (R) 4-52 791 @R (R), (A)-7 AT
[
(B) (A) =R (R) 7-B3 1% 5 (R), (A)-7 A%
AT 3 |
(C) (A) 7ey 5% (R) eyl |
(D) (A) Tyl 58 (R) 797 |

& (R)

[ Please Turn Over ]
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98. Match List-I with List-II and select the correct 98. ©Ifera-l @R Oiferer-11 fferca fawferiie @ 2
answer using the codes given below the lists. 5% Teg biere T ¢
List-1 List-11 )G ORI
(@) C. Wright Mills @) IOrlOl_’; ;;‘Z;l”y"f (a) 1. 326 FepT () oI SRS TNE
(b) Vladimir Lenin (i1) The Ruling Class (b) IR (11) Wﬁ?‘@;ﬂ
(c) Gaetano Mosca (iii) The Vanguard Party (c) OIRTSICT I (iii) 7 SIE A5
(d) Robert Michels (iv) The Power Elite (d) =G fewep (iv) 7 &7 s
Codes: (T ¢
@ b @© @ @ b @© @
Ay Gv) () @) (@) (A) (v) () Gi)) @)
B) @ @) G (Gv) B) (@ @) 3G (Gv)
© Gv) @y @G @ © @Gv) @) G @
D) @ Gy @) (@Gv) D) @ G () 3Gv)
99. On which of the following criteria old and new 99. SO G T ANMGT SR T (I
social movements are differentiated? IR ojmq‘ﬂqagq T T ?
(A) Issues (A) ﬁﬂw
(B) Agents (B) QW
(C) Contexts (©) oifire
(D) All of the above (D) Tl =3
100. The concept of ‘Circulation of Elite’ was 100. ‘9RT53 SebER LRl Meces
forwarded by (A) =l
(A) Mosca (B) *hcacm!
(B) Pareto (©) RIse
(C) Mitchell .
(D) Burnham )
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